Practice #3

VERTICAL
ALIGNMENT
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Complete the following table for missing stations and elevations.

STATION ELEVATION
0+00 175.00
1+00 173.25
2+00 171.50
3+00 169.75
4+00 168.00
5+00 166.25
6+00 164.50

6+90.00 162.93
7+00 162.76
7+50 162.17
8+00 162.01

8+40.00 162.18
8+50 162.25
9+00 162.73
9+50 163.36
10+00 164.14
10450 165.07

10+90.00 165.93
11+00 166.15
12+00 168.40

12+60.00 169.75
13+00 170.51
13+50 171.07
14+00 171.19
14+50 170.87

14+60.00 170.75
15+00 170.25
16+00 169.00

—-1.750%

\J
PVI = 8+40
PVI Elev. = 160.30
Length 1 = 150.00’
Length 2 = 250.00°

+2.250%

y
PVI = 13+60.00
PVI Elev. =172.00
Length = 200.00’

-1.250%
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Key

Lo Pt =7+95.00
Lo Elev. = 162.01

Hi Pt = 13+88.57
Hi Elev. = 171.20



